S/Q k\,\jQT’\l@w/\ Math 108A - Quiz # 1

April 17, 2009

1. (a) Define the span of {v;,vs,. ., v} Whatdow;, .,v,represent in this definition?
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{b) Write the subspace
U = {(a,0,0) + (—20,0,8) + (0,a,0) | a,b € F} C F?

as the span of a finite set of vectors.
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2. (a) Is the set of vectors {(0,0,0), (1,0,2), (—1,0,0)} in F° linearly independent? Why
or why not?
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(b) Let V = C = C' be the vector space of complex numbers over F' = C. Are the
vectors z = 1+ 1 and w = 2 — ¢ linearly independent in V7 Why or why not?
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